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Instructions to the candidates:

1) Question No.1 is compulsory.
2) Solve any three questions from Q.2 to Q.5.
3) Questions 2 to 5 carry equal marks.
4) Neat diagrams must be drawn wherever necessary.
5) Use of map-stencils is allowed.
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Q1) Answer the following questions upto 20 words each. (Any five) [10]

 a) Write the definition of Commercial Geography.

 b) State any two examples of Tertiary Economic Activity.

c) State any two examples of Renewable resources.

d) State any two economic advantages of forest.

e) What is meant by ‘Under Population’?

f) State any two effects of migration.

Q2) a) Answer any one of the following questions upto 150 words. [12]

i) Discuss the nature and development of commercial geography.

ii) Explain the economic activities of man.

b) Answer the following question upto 100 words. [8]

Explain in detail any two study approaches of commercial geography.

P.T.O.
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Q3) a) Answer any one of the following of questions upto 150 words. [12]

i) Describe the man-made resources.

ii) State the causes of water polution and suggest remedies.

b) Answer the following question upto 100 words. [8]

Explain the effects of conventional energy resources on environment.

Q4) a) Answer any one of the following questions upto 150 words. [12]

i) Explain the population characteristics of India.

ii) Explain the types of migration.

b) Answer the following question upto 100 words. [8]

Explain the advantages of optimum population.

Q5) Write short notes (Any four) [20]

i) Scope of commercial geography.

ii) Secondary economic activities.

iii) Energy crises.

iv) Soil conservation.

v) Human Development Index (HDI).

vi) Optimum population.


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 gmoS>{dUo Amdí¶H$ Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 n¡H$s H$moUVohr VrZ n«íZ gmoS>dm.
3) àíZ H«$. 2 Vo àíZ H«$. 5 g‘mZ JwUm§Mo AmhoV.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
5) ZH$mem ñQ>opÝgëg dmnaÊ¶mg nadmZJr Amho.
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à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr nmM) [10]

A) ì¶mnmar ŷJmobmMr ì¶m»¶m {bhm.

~) V¥{V¶H$ loUrÀ¶m Am{W©H$ ì¶dgm¶m§Mr XmoZ CXmhaUo Úm.

H$) nwZZ©drH$aUr¶ gmYZg§nÎmrMr XmoZ CXmhaUo {bhm.

S>) O§Jbm§Mo XmoZ Am{W©H$ ’$m¶Xo gm§Jm.

B) Ý¶yZV‘ bmoH$g§»¶m åhUOo H$m¶?

\$) ñWbm§VamMo H$moUVohr XmoZ n[aUm‘ {bhm.

à.à.à.à.à.2) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 150 eãXm§V {bhm. [12]

i) ì¶mnmar ŷJmobmMo ñdê$n Am{U {dH$mgmg§~§Yr MMm© H$am.

ii) ‘mZdmÀ¶m Am{W©H$ {H«$¶m ñnï> H$am.

~) Imbrb àíZmMo 100 eãXmV CÎma {bhm. [8]

ì¶mnmar ŷJmobmÀ¶m H$moUË¶mhr XmoZ Aä¶mgnX²YVtMo dU©Z H$am.
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à.à.à.à.à.3) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 150 eãXm§V {bhm. [12]

i) ‘mZd{Z{‘©V gmYZg§nÎmrMo dU©Z H$am.
ii) ObàXÿfUmMr H$maUo gm§JyZ Cnm¶¶moOZm ñnï> H$am.

~) Imbrb àíZmMo 100 eãXmV CÎma {bhm. [8]

nma§n[aH$ COm©gmYZm§Mo n¶m©daUmdarb n[aUm‘ ñnï> H$am.

à.à.à.à.à.4) A) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 150 eãXm§V {bhm. [12]

i) ^maVmÀ¶m bmoH$g§»¶oMr d¡{eîQ>ço ñnï> H$am.
ii) ñWbm§VamMo àH$ma g{dñVa {bhm.

~) Imbrb àíZmMo 100 eãXmV CÎma {bhm. [8]

n¶m©ßV bmoH$g§»¶oMo ’$m¶Xo ñnï> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) ì¶mnmar ŷJmobmMr ì¶már
~) {Û{V¶H$ ì¶dgm¶
H$) COm© g‘ñ¶m
S>) ‘¥Xm g§dY©Z
B) ‘mZd g§gmYZ {dH$mg {ZX}em§H$
’$) A{V[aº$ bmoH$g§»¶m




